Systems of Linear Relations — Practice Test
Foundations & PreCalculus 10 Practice Exam / 3 7
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1. Given the following linear system, is the point (2, -2) a solution? Prove it by
showing your work. (2 marks)
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2. Use the graph of the linear system below to find the solution. (1 mark)
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3. Solve the following linear system using the graphing method.
You must show all your work. (6 marks)
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4. Solve the following linear system using the graphing method.
Y ou must show all your work. (8 marks)
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5. Solve the following linear system using the substitution method.
You must show all your work. (5 marks)
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6. Solve the following linear system using the substitution method.
You must show all your work. (5 marks)
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7. Solve the following linear system using the elimination method.
You must show all your work. (5 marks)
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8. Solve the follrov.ving linear system using the elimination method.
You must show all your work. (5 marks)
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